XEEHES RT-081

72UR=-4 FLOO 2. #8¢&

52 A 1140
120 s 900
39 830

AT VVAMIE « Ty S =
Jva (JANyFV4) -
NxDvIr—-Fyh MO

5]
=
=)

RO

P2 Ve

i

EPDMAY +2 3x30

,
C
=
1

Ll
NS

823.6

BAVEASR t=6.8 (BlE) AS2B1 =300
/ Bl gBED > Bk t=1.6

mEs '
" b B ’ / ° c
[ve}
<+
B t=2 I ] ]
- H
3 REDEE (L THEERE) @(\ B e e 1 6
TIHIBEF \ L i Im) S RB/MY - & =1.
TEBRIL b C yj M \
[€e] ‘ Eié?i
© ) | N
& \Q:*j\ Vm=: Biil R7RD > ¥R (=1.6
BFaH t=2 ]
ST (]
b KRR 8o —h 1950
- AARRN N - N AT =)
AASHE B3N m BT BISH - (B3 =2 BRED)
BEh :::JH}U
TV I B LM T/ -
(o4 (@}
N
i ~
2 AmmT 2 2E2 @300 7%2 S
o RV
Lo FTOI-%ru 7
Y]
ZEkY) ~| @
0 FUIBEFH W=70 Ny
7 IN=
0 T DIUNIe (7 n-wipkE N EHBIEBE)
= Bryon- t=2.3
L0
“ ML -2 [—30x30x3
E&55(TIEFR - BIERE)
B4 T / 76 i %aL%OX50X2OX23
(Y349 NI =
S-Uy T (BIR) *E
50 ttE@OHE 840
27 25 100 |IABOTHE 940
N (FHBOTE = WHTE+40)
KR - fHE# (RIR)
FAD7 =T 4 27 ! ‘ o
KECAVME t=25 | ! 799-7-37 96
(RI2) ! @ 40F-J4r- 1.80¢
AR =G
2 = - R = BT - B 3] £ B B 3 — -
e BERE 5 N ANy TS PSL—90x3000 R R A . SWISHIH ISV IRRER
Fa g = ¥ Iy - ———— ———— ————
5| WhHolimE A B
‘ . - A -
] I L] § 1 A\ 2
R 2 = £t = K o T T T = /




